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AT AZTAAAISEA
A ARIMNY SESHEA2Z/HR)

Chelr ALRAQ AT} (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AT RAHFAIH A 6,723,042 5,211,849 1,511,193

Jl 301,693
== 13,436
[Ea 6,407,913
ARIMY SHSHEEH2E/HF) 6,533,121 0 6,533,121
Il 301,693
< 13,436
= 6,217,992
AH AN SHS) 4,200 0 4,200
ATZXMAANA A (HRFEH]) 4,200 0 4,200
203 HR=H] 4,200 0 4,200
M EAEER=A 4,200 0 4,200
ORNEgE =AY
350,000& 12043 4,200
SSHSALIEAF 400,000 0 400,000
AN DIE3TE LAY 300,000 0 300,000
401 AlSHI L2 CHH] 300,000 0 300,000
01 Al 300,000 0 300,000
ONER MADTH ZHALI('2E NSE
&) 300,000,000 300,000
S2(HENAIY HHl EXI 243 S 100,000 0 100,000
401 Al HIZL 01| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OEXY L 243 S
100,000,000 100,000
dEHE S 3,888,466 0 3,888,466
Il 301,693
= 13,436
= 3,573,337
MU =& X2 (KHA) 864,700 0 864,700
201 er2 3| 13,560 0 13,560
01 AtR2telHl 10,560 0 10,560
OMSBAI B840 U U2HE R
66,0002 *60H 3,960
OLE MSdAL 183 HH S
500,000 <62 3,000
OM=Uzl & A 224 LI=H]
150,000+ 122 »23] 3,600
03 A2 Y| 3,000 0 3,000
OAZHBAIL JIBA S sAET
3,000,000& %12 3,000
301 22N = 44,800 0 44,800
4 JIE2 8= 44,800 0 44,800




SH: AEXAQARA
M AXXA SHSHIILZE/MF)
ool MBS XS CERED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OMEHSTZHSH ZAISE
0,0002 x2H x320! 44,800
307 QI2tol ™ 766,340 766,340
02 QIRHEAAIHE XL 435,400 435,400
OFINHE L A2EXHE Xl X2
2,000,000 *12] 2,000
OX= 9 & HOoIE=SUHE &&
5,000,000& *12l 5,000
OH= U WY 2EHE EX
4,000,0008 %13 4,000
OFZ U HY I8 B
2,000,000&*13| 2,000
Od= & &g =703 &H
5,000,000& x13l 5,000
OHM203| Mete=XIAD| BH=2Uisl &d
1,500,000& *13] 1,500
OHMI193] Mt XA &32U5 &
1,000,000 *12| 1,000
OHMI9al tHetRI==E3 &I S0 &
l 1,000,000 *12] 1,000
OS8H HOIEESE 2ZH|
2,000,000 * 1900 & 38,000
OMss23 SZMSAE AIZ2=2 XIE
25,000,000& 25,000
OAZ=ZHE, NEX, 2S=HH S &
3 2Z| ,000,000& 14 6,000
OHNpdsl detdExdsis &
160,000,000& *13] 160,000
OM372l detde MeEXs s &
110,000,000& 110,000
ON203 Het"dE 24 MEXSUHE &
25,000,000 13 25,000
OHM243| Heted=XIAD| BHECIE S &
1,000,000& *13] 1,000
ON4g] HetdTXIADI =Z e =d
1,000,000 *12| 1,000
OHM2sl detde +=JAAUS|TH =L S
B 1,000,000 *12] 1,000
OHMI3al Meted=XIAD| OFUisl &d
1,000,000& *13] 1,000
Odctg el ==z =d
1,000,000 *12| 1,000
OHM203| Mete S XA MEHEHE =&
1,000,000 *12] 1,000
ON203 &etdSXIAD| HILIADE &&
1,000,000& *13] 1,000
ORN21gl Meted T XIAH Histiel =d
1,000,000 *12| 1,000




A ALRAAAIS A
M AXXA SHSHIILZE/MF)
el MBS dS (St &)
. = SIE]
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OHNozgl detde HSE€28)| 832 HS
tHal &d 1,000,000& *13] 1,000
OHN203| detedSRIA AZEHLIANS
Ea 900,000& *13] 900
O2025 Metd &8sl &) OFRtHe &3
1,000,000 *12] 1,000
OF= 2 &Y Jet2E3nlis &3
1,000,000 & *33! 3,000
Odg AZEZ0FESl AL & H=0F
iz =& 1,000,000 *13| 1,000
02025 SEESIEI| MBS OFUs =&
1,000,000&*12] 1,000
O&= & Mg I32ZUs &H
1,000,000 & *33! 3,000
OX= o ®Y g204E B
5,000,000& 5,000
OHM26s| HMetd=HESIAI| =0l HOIEZE
tHa =& 2,500,000 *12] 2,500
OHM203 EetedEXIA| L2l HOIEZHSE
s 2,500,000 *13] 2,500
ONEZHSS o= P
20,000,000 *13] 20,000
OHM293| Meted XA S8 Us &d
1,000,000 *12] 1,000
03 QIZIEHXNHE2GHIEX 330,940 330,940
OXMEZHM=s 29 22 170,900
—dEFHSE 2 EX
60,000,000 «1 60,000
—dEZHEE AIR= Q]
59,300,000& 1 59,300
—HEZHFE AIR=T 403
19,200,000 x14 19,200
—MEFZHFE AIR= 2=t
9,600,000 1A 9,600
—JEZHES A 29|
1,000,000 = 129H& 12,000
—ACTRHSIT Y24y
10,800,000 x 14 10,800
OXEORRIHALIXZY 2YEX 160,040
—Ore|HAL=ZEY 2HEX 27,100
Ol A =2y 2HY|
18,600,000 1 18,600
orIgAZ=2g Hsl&&|
8,500,000 *14 8,500
—OtelZAE =25 22|
119,340,000 14 119,340
—Ol2IZAZ=2Y &0z, &3Hl, d=
) Falsl 13,600,000 1 13,600




AT AZTAAAISEA
A AZIMY SHSHEIH2AE/HR)
el MBS dS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 40,000 40,000
01 Al&H| 40,000 40,000
—loo&ZE HE & £X
40,000,000 * 100 2 40,000
ol M=t XA 260,900 260,900
307 @12to| & 260,900 260,900
02 QB HANEEX 98,700 98,700
OHM33e Metd ZH=EU &8
50,000,000& *13] 50,000
OHNI252| Hctde =0t stz £8
7,700,000 1] 7,700
O&= XML M=l &M
2,000,000& %12 2,000
Odetd: XXMEMe! M=z &
5,000,000& 12 5,000
Olctar e dEnsz &8
21,000,000& x13] 21,000
Odg e 4= WA= 0=
3 EM 1,500,000& %12 1,500
Odg el == =8l &8
1,500,0002 %12 1,500
Od= & & FieMd=iz &8
10,000,000& 10,000
03 PIZHHEHE 22X 162,200 162,200
Otz 28 X 162,200
—AEZHUHE 28 EX
85,000,000 *1 85,000
— U2 HAUH=FE QA
52,000,000 *1 52,000
—dEZHHFE 0=, &3HI
25,200,000 * 1 25,200
H=2 A JHEIXIZ 853,500 853,500
307 @I2t01 & 853,500 853,500
04 QIZHHAMAIH 2 £ 853,500 853,500
OX==Za & i+ S5 2gelad
DES| 3,000,000& *12] 3,000
OHM4el A==t 8= 2 S2U3
50,000,000& *13] 50,000
OMibal M-=Ht=E=l&b] Ht=t=l JHA
2,000,000& %12 2,000
OHNieal M2t Al - & SS! HI=U3
DES| 8,000,000& 12 8,000
O&l====ti OF2Ui=l JHZ
5,000,000& *12] 5,000
ORMI2el ME=Z=8 &= HICHAAILHE JH=
24,000,000& 13 24,000




A AZXARIARRIA
ME: ALXAQ BHASH2SLZ/AS)
ol dErs s CEEREE
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
OMI33| NC2E s ZH D23 HE
8,000,00024*13] 8,000
OMI23| 31Xl 28 =203 M
3,000,000+ 13| 3,000
O20IHY Z2J|th3] Kz
9,000,0002 %13 9,000
ORMI33| E24t) 2203 A
5,000,000 *13] 5,000
OM213] RER4H &2 SRHE HE
16,000,00024%13] 16,000
OM118] RE 24 BIEDIEICHE] JHE
15,000,00024%13] 15,000
OMI178l NE2E3|EI| HOIESUS HE
4,000,00024*13] 4,000
OM9sl REZ4t) L ME2E3IRI| oA
HOIEZSUS M= 4,000,000 13 4,000
OM3B3| HeteSXIARD| HOIESHE] M
9,000,0002 %13 9,000
OF=2 L 2 MSHS WAl X
10,000,000 #43| 40,000
OAE= DR#AL L =Ug|] 29
10,000,000 14 10,000
OLZE HMSHAF 22X HIXIAI
3300002 *1003] 33,000
OXToQtUZT2 M2 K AHB2IE N
ES 14,000,000 %13 14,000
OM33| NC2E3IH)| HAE =203 M
ES 12,500,00024%13] 12,500
ONTZHS3| XOHZo N8 A
8,000,000 %13 8,000
02025 ME2HF5I0 02 storg
30,000,000 *13] 30,000
OM213] NC2E3|15)| HAE I3 M
ES 9,000,0002 %13 9,000
OMI318l RE2E5|EI| h20H5 HE
3,000,000+ 13| 3,000
OMI208l NERE 5| EI| BHEQIEIHE A
2,000,000 +13] 2,000
OMI203] R 24D HOIESHE N
9,000,0002 %13 9,000
OM143] RERAH Het 2= €045 i
ES 10,000,000 %13 10,000
O2025 MERS3IN)| 2O L XAl =2
TCHE) JHE 10,000,000 *13] 10,000
OM93l ZZ2Ath 243 A
10,000,00024%13] 10,000
OMI8sl NE24H) IIABIHE| HE
10,000,000 %13 10,000




AT AZTAAAISEA
A AZIMY SHSHEIH2AE/HR)
ool dEHs 8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORM202| M=t 85 &= HILIANSE
Dk 9,000,000& *12] 9,000
OHM29al M==2E2l&I| HILIAHS! i
2,000,000& %12 2,000
ORMI3el A=ZHFS =g =S
w OFCHE! JH= 4,500,000 12 4,500
OHN202 M==40] YU MU HAl
13,500,000& *13] 13,500
ORM6sl M2t detdx AlLIN Mt3A=
Izl JH= 10,000,000& *13] 10,000
ORMI252 ME==X2/&I| HOIESUHRI N
6,000,000& 12 6,000
OHM152l Mz S50 =0l HoIESUHE
Dk 6,000,000& 12 6,000
OHll4zl dcJCol&t BE ZAU=l I
3,000,000& %12 3,000
ORMI3zl ME=2l3| &l 8= =203 N
Zl 50,000,000 *13] 50,000
ON3al A-ZH=2& &= HAEE =
BICH=2! JHzl 64,000,000& *13] 64,000
OFMEZ =22 22l =
10,000,000& 10,000
OH13l A==l o|&bH HOIE=U2 N
Zl 5,000,000& 12} 5,000
OAl - =UHe 8= =3 KAl
55,000,000& 55,000
OHMI12al 2HHEXTH 8= & - 0 B UHS
BES 55,000,000& *13] 55,000
ON7al =23 d2U=sU
=] B 7,000,000& 12} 7,000
O2025 MEotelgtl 8= g3l Jh=
52,000,000& *13] 52,000
02025 &= ZAI=HEIU=2] W=
120,000,000& *13] 120,000
O2H Al - = Ms2d g2zl
6,000,000& 12} 6,000
S8 M=t2l HEIX2 295,000 295,000
307 elzto| & 295,000 295,000
04 CIZHHAMAIH 2 & 295,000 295,000
O E MU A XA 55,000
—MES MEUE AKX
40,000,000 40,000
—dE N2 MU HAKSA
15,000,000& 15,000
OY M=Hal A X
40,000,000 *50H 200,000
OXEH MU A XA
40,000,000 40,000




AT AZTAAAISEA

A AZIMY SHSHEIH2AE/HR)

ool dEHs 8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Leddr+FY 51,000 51,000

301 LEtE N = 21,000 21,000
14 IIEt2d3 21,000 21,000
OdgMd & d=HA HE Z2a=

4,000,000& 22 8,000
OZUM=U MY 2at=

4,000,000& 22 8,000
O&=lUz && 242

5,000,000& 12} 5,000

307 elztol & 30,000 30,000
02 2B YA E X 30,000 30,000
O+ S8

30,000,000& *12] 30,000

dPtMEE XCX 88 XJ(EX) 129,584 129,584
Jl 64,792
[Ea 64,792

307 212+01& 129,584 129,584
7l 64,792
= 64,792

02 LB HAHE L 129,584 129,584

Odit S iR 12|
2,686,000« 1204 2 4L 128,928
Jl 64,464
Ea 64,464
Ooggt 2SN 25 28
164,000 » 1 %4 656
Jl 328
[Ea 328
MEHE XZA 85 N (EX) 125,120 125,120
= 2,400
o 122,720
307 el2tol & 125,120 125,120
= 2,400
[Ea 122,720

02 QIZHEAAEE X 125,120 125,120

OdaM=XAt K& 125,120

— XM &I 8,400,000& »1& 8,400

—234l 33,600,000& *1 33,600

= 2,400

= 31,200

—gZ d0= 14,000,000 * 1= 14,000

—-lz2s =g 9,120,000& 1= 9,120
—E2z L AHEE AR RES

60,000,000& *1 60,000
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AT AZTAAAISEA
A AZIMY SHSHEIH2AE/HR)
el MBS dS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEA MEHSKER 88 XA(EX) 97,188 97,188
Jl 48,594
= 48,594
307 el2to| & 97,188 97,188
) 48,594
[Ea 48,594
02 QIZtEHAEE X 97,188 97,188
Ozl MEMFXEZX BIXI el2id]
2,686,000« 1204 & +3& 96,696
Jl 48,348
[Ea 48,348
Oz MEHSKZI 28 E82
164,000 15 +34H 42
Jl 246
[Ea 246
ZO0HQ! MEHSXIER &5 XA(EX) 32,3% 32,3%
Il 16,197
s 16,197
307 212+01& 32,3% 32,3%
7l 16,197
Ea 16,197
02 IHB A HE L 32,394 32,3%
O MEMSX =X BHXI Q121H]
2,680,000« 120431 32,232
Jl 16,116
o 16,116
O HEMSN=A 282
162,000 * 1 162
Il 81
o 81
ZOHQ! MEHSXI SR HIMSHI(EX) 5,600 5,600
= 480
= 5,120
307 elztol & 5,600 5,600
& 480
Ea 5,120
02 2IZHBYAIHE A 5,600 5,600
OX=IH&Hl & K& 5,600
—E23H 200,000 x1H*1201 3 2,400
— X &I 100,000 x1E 1290 2 1,200
& 480
= 720
—HEH0= 1,000, 0003 * 122 2,000
NS WEZSE 16,600 16,600
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AT AZTAAAISEA
A AZIMY SHSHEIH2AE/HR)
ool dEHs 8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 898,580 898,580
Ristd - 2SFES2EYE 898,580 898,580
o= 469,560,000 1 469,560
@ZN L=h=: 46,950,000 1 46,950
HESESE e 46,950,000 1 46,950
O=g 123,120,000 1 123,120
O+t S| 140,000,000 * 1 140,000
O=gH| 30,000
—Zid= 15,000,000 * 1 15,000
—HalE&] 15,000,000& * 1 15,000
OXE2SHIIR =4 29 42,000
—=2A Y| 42,000,003 *1& 42,000
SHHES RYEESEIIT FH Ad 90,000 0 90,000
Jl 90,000
201 el 27,756 0 27,756
Il 271,756
01 At 2|l 27,756 0 27,756
OstAE=s HE2s8IIR 2 X
27,756,000 27,756
Jl 27,7%
301 EtE NS 62,244 0 62,244
Jl 62,244
R2istd - 2SFSEYE 62,244 0 62,244
OstASE=E JE2sdJ|I7 4 N
62,244,000 62,244
Jl 62,244
Fesds 23S 25,000 25,000
301 EtE NS 25,000 25,000
R2istd - 2SFS2EYE 25,000 25,000
Ot 233
25,000,000 * 1 25,000
SSHEAE 29 842,000 0 842,000
HEAIE ZXI(RHA) 842,000 0 842,000
101 ©1AH| 12,000 0 12,000
M ORNZZ2NSE S 12,000 0 12,000
OSSHM=AIE FAl2e
3,000,000 *42 12,000
401 Al HIZL 201 795,000 795,000
01 Al&HI 795,000 795,000
OSSHMEAIE FAE=H|
200,000,000 200,000
Os&Esd =2l
30,000,000 *1 30,000
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SN AEIAAAI A
I ARXANY HHSHSSURE/MF)
&2l SSHSAE 29 (SH &)
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
OsUlH=EAlE &X
7,000,000 %1000 2 70,000
OL=Z HEA4 Wi £ &l
50,000,000 1 50,000
OMSAE =& S x|
30,000,000 *2IH 2~ 60,000
OMSAIE QIXEC SAH B
25,000,000 x30H 2 75,000
OM=AIE ot EA
2,000,000 %170 2 34,000
OALIMs2 84 ZAL 20,000,000& 20,000
OXZ HOIEZE Xa L2 A
80,000,000 x13] 80,000
OAHOIESE ALt B
2,000,000 %84 &~ 16,000
O0le | HER A gt ZA}
20,000,000 *13] 20,000
OAlL=Y2E ME 2 AAIEA
20,000,000 x13] 20,000
OdetREZSIZE QIXRC] X
20,000,000 * 10 2 20,000
OMSAE ZEAY AH=EA
100,000, 000& 100,000
405 KHAHR EH| 35,000 35,000
01 AL Z2EFSH| 35,000 35,000
OoRIEHEZ2E MIIPIE 2
15,000,000 = 1CH 15,000
O2ZH=AE =28 7Y
20,000,000 1 20,000
H=AE 29 1,276,885 0 1,276,885
2SS U AN 24 320,590 0 320,590
201 LBt AY| 318,590 0 318,590
01 AFR22t2|8I 97,320 0 97,320
OFAEE L S22 ABE P2
2,500,000 x23] 5,000
029X 222 7Y
250,000 x3H 23| 1,500
OJ12tHl 22X 282 R
250,000 x2H 23| 1,000
OZ2L2S28 MAXL] A2l
40,000,000& 40,000
OYtt4=2H]| 12,420
—AUXS(ZIIEAHD])
45 000 +21CH 120 & 11,340
—AX2(H4DI)
45,0002 x 1270 & +20H 1,080
OAEZE 22| =2 37,400
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2A:

M AXXA SHSHIILZE/MF)
o ANE 29 (EEEE))
H - B8 S9l(30) - NRAY - BAS ol b e HlmS2
—otEze| tHe w42 (&)
1,300,000& = 1201 = 15,600
—OH | HE A4B(A8)
400,000& = 1200 & 4,800
—otMate| e »>25(52D1)
200,000& #1200 & x2JH 4 4,800
—OHEPIR| [fE A4B(0CTV 2 D201
300,000 *12JH & *30H 2 10,800
HIIAA =2=2(&D])
500,000 *23| 1,000
HIBA =22(E2D1)
200,000 x2JH 2~ 400
02 324l 221,270 221,270
O3323a £ HMAl 108,240
—MElAE NEBE
800,000& 1204 9,600
=& AEZ 8,000,000 1200 & 96,000
—QIHY AlE=
60,0003 #1200 & 201 A 1,440
—Sl5Ys N8R
50,0002 120 & *2JH 2~ 1,200
O&3x 2% =AHHl
20,0002 x20E *x20 2 800
O&OZI & GIFD|I AZHI 2,130
—3YR 1,800 *40L*3CH*53] 1,080
—dxeel 2 J|EHE A
70,0002 *3CH*53] 1,050
O&COZI & GlIF 21 ==elbl
100,000& =102l 1,000
ORE2SE xALS 22
3,000,000 *43] 12,000
ON+E 223 M
10,0003 *150E*23| 3,000
OMSAIEE KAl 81,500
—SE2SE AIdE RAl&2IH
5,000,000& x53| 25,000
—AUMsZ AIE=S |Al22l]
5,000,000& 53] 25,000
—OtCIZEHECIEE, EHISA&E, TIXZd
B AIEE |sXZeltl
2,500,000 43| 10,000
=28 ¥ dMI|&H| Xl
875,000& 43| 3,500
—d - HEAIE RRI22
2,250,000 *43] x20H A 18,000
OZOHR! HOAME i & JXI&2]
1,000,000 43| 4,000
(OEN-="=11s] 300,000 x2JH 2~ 600
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